College Algebra 1 

3.4 Solving Multi-Step Inequalities Notes

Objective: To solve multi-step inequalities 

Ex.1 What are the solutions to the inequality 9+4t >21

Try it!! 

a. -6a-7 ≤ 17 






b. -4 < 5-3n

Ex. 2 Writing and Solving a Multi-Step Inequality 

[image: image7.png]You want to make a rectangular banner that is 18 ft long. You have no more
than 48 ft of trim for the banner. What are the possible widths of the banner?




[image: image2.png]Relate ~ Since the fence will surround the garden, you can use the perimeter formula
P =2(+ 2w.
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Try it!! 

[image: image1.png]garden, you want to fence in a vegetable garden that
is adjacent to your friend’s garden. You have at most 42 ft of fence. What are the
possible lengths of your garden?




a. 

Ex. 3 Using the Distributive Property 
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Try it!!!

a. [image: image4.png]What are the solutions of 15 = 5 — 2(4m + 7)? Check your solutions.




Ex. 4 Solving an Inequality with variables on both sides 

What are the solutions 6n-1 > 3n+8

Try it!!

A.  3b+12 > 27-2b

Ex. 5 Inequalities with special solutions

[image: image5.png]What are the solutions of 10 — 8a = 2(5 — 4a)?




[image: image6.png]What are the solutions of 6m — 5>7m + 7 — m?




Try it!!!

a. 9+5n ≤ 5n-1






b. 8+6x ≥ 7x+2-x
Practice. 

Solve each inequality, if possible. If the inequality has no solution, write no solution. If the solutions are real numbers, write all real numbers. 

1. 7+6a > 19 







2. 2(t+2) -3t ≥ -1

3. 6z-15 < 4z+11 






4. 18x-5 ≤ 3(6x-2) 

5. The perimeter of a rectangle is at most 24cm. Two opposite sides are each 4 cm long. What are the possible lengths of the other two sides? 

6. How can you tell that the inequality 3t+1 > 3t+2 has no solution just by looking at the terms in the inequality? 

7. Can you solve the inequality 2(x-3) ≤ 10 without using the Distributive property?
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